Quadratic Functions

y = a(x+h)” +k
Shape: Parabola U

Vertex: (h, k)
Stretch Factor: a

Direction: Look at stretch factor
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Lets find the pattern!!
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What is the Pattern ?2?
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Vertex: ( 0O (0)

Stretch Factor: \

Direction: MF




Example #2:

y=(x—2)"—4

Vertex : @.“V’)_ -

Stretch Factor: 1

Direction: Q‘D
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Example 3

y=—(x+3)* -2

Vertex : _(-_3!‘9). -

Stretch Factor: |

Direction: _ Dowi

Over § Down




Example #4.:

y=2(x—1)* +4

Vertex : (l(‘f') -

Stretch Factor: =L _

Direction: QP

Over Up




Bxample #9:

y= —3(X) —5 el
""5Lx+o\

Vertex : 0, —@_

Stretch Factor: =2

Directionn _ DowlL

Over § Down




Example £6:

y=%(x—3)2+ O

Vertex : (310) -

Stretch Factor: é

Direction: (-IgO

Over Up




Examyle #1: = =Q(x-3%+|
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Stretch Factor: <

Directionn @ DowlL
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IXQ = 2 )

t* =8

I* =1
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